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QUESTION 1

You must implement high availability features in the design for a data center. Every network device in this design will
have dual routing engines. 

In this scenario, which two high availability features should you use? (Choose two.) 

A. GRES with NSR 

B. GRES with NSB 

C. NSR with graceful restart 

D. NSR with NSB 

Correct Answer: AB 

 

QUESTION 2

You are designing an EVPN/VXLAN network and want to ensure that latency between VMs on the same host is as low
as possible for both Layer2 and Layer3 traffic. 

Which two design choices will accomplish this task? (Choose two.) 

A. Configure spine nodes as VXLAN Layer 3 gateways. 

B. Configure leaf nodes as VXLAN Layer 2 gateways. 

C. Configure leaf nodes as VXLAN Layer 3 gateways. 

D. Configure spine nodes as VXLAN Layer 2 gateways. 

Correct Answer: AB 

 

QUESTION 3

Which two scripting languages are supported for creating on-box scripts? (Choose two.) 

A. Python 

B. Chef 

C. SLAX 

D. Ansible 

Correct Answer: AC 

 

QUESTION 4
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You are designing a data center where all your servers in each rack will be connected to two top-of-rack (ToR) switches
using Layer 2, as shown in the exhibit. You must implement a high availability solution that maintains link layer
connectivity to each server when one of the ToR switches fails. 

In this scenario, which solution will accomplish this task? 

A. VRRP 

B. LAG 

C. GRES with NSB 

D. MC-LAG 

Correct Answer: D 

 

QUESTION 5

You are designing a Layer 3 Clos fabric architecture for a new data center network infrastructure. You use IBGP for the
underlay control plane of the fabric. 

Which devices must support BGP route reflection and BGP ADD-PATH? 

A. spine nodes 
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B. leaf nodes 

C. fabric interconnect routers 

D. fabric perimeter routers 

Correct Answer: A 
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